Total No. of Questions : 10]

DICS31
B.A./B.Com./B.Sc./ BHM/BBA/BBM DEGREE
EXAMINATION, JUNE/JULY -2019
Third Year
SCIENCE & CIVILIZATION (Part-1)
Time : 1% Hours Maximum Marks : 50

SECTION - A (2x13=26)
Answer any two questions

Q1) Explain in detail about paleolithic age.
FOBTORE AB0M5050 K0y D[ DDHB0EH00.

02) Describe Babylonian numerical system.
BAEIADS T500 Dogrg AF°BHR DSOoL0.

03) Write the importance of vitamins.
DI [ErrE0gr58R0 DSOOTO[0.

04) Give an account on the invention of wheel.
BEH0 G300%), SA[GE D 2.8 TGOBB0 (@°0K050.

05) Explain the problem with conventional energy source with suitable example.
TOEED 8 SBC0 BoR5e0 BTD &IOS DHBOER.

06) Give an account on artificial insemination.
5D MG Tes 1570y X008

SECTION - B
Answer any three questions Bx4=12)

Q7) a)  Gizah pyramid

Rz DEDE
b) Radio
[elees vy
c)  Stoneage
CPATONE500
d) ICBM
50.2.8).0000
e) Hybridisation
POETgE0
f)  Biogas

ZJCBJ"N’?S%



08)

29)

g) Freedom
?051513
h)  Vaccination
o3
i)  Planet
TAISESeS
SECTION - C
Answer all questions
Fill in the blanks :
a)  Osteomalasia is due to
Q@ 20BRALR B Hod HHy0.
b)  Full form of RADAR
36 D DoEB%0.
c) PVCisa
2.2.2. e 3.
d)  Function of cortisones.

?Q:@S(SQ Cﬁ)o§b§)@

Choose the correct word.

a)

b)

d)

Quinine is for

335 B T

1) Filaria i)  Fever

235"6§°§Oq> &5653\)

iii) Malaria iv)  Cold and cough
Slelovey 2300230 S00AT ¢

Diabetes can be treated with
3D 0 AT B3R DIy DO,

i) Bile juice i)  Amino acids
8BS 257D @%@58 ERVCR
iii)  Vitamins iv)  Insulin
Penicillin

200

8)  anaderde Be) oy
Nlo) ISV DeIVOD

iiil) Hormone iv)  Antibiotic
et &g ¥
Vitamin C

DEXD

i) Lemon ii)  Banana

@550& @663

B x4=12)



Q10) Match the following,

a)

b)

©)

d)

iii)  Nuts
Aoeseo

Paper
SHATINGY)

Anesthesia
D000
Oil

37

Water
DS

1))
2)
3)

4)

iv) Beans
ARG

Conventional energy
TR ¥

Non conventional energy
TORBTALSE ¥
Communication
PRS00
Surgery
T V8L

¢4 60



Total No. of Questions : 18]

ol

02)

03)

04)

05)

006)

07)

08)

9)

DBC31
B.Com. DEGREE EXAMINATION, JUNE/JULY - 2019
Third Year
Business Laws
Time : 3 Hours Maximum Marks : 70

SECTION - A (4x3=12)
Answer any four of the following questions

Minor’s contract
;_obg &o“ao)ocjo

Anticipatory breach of contract
D0 8O0 EYOPOD

Warranties
T T3 TS0

Proposal
BTESS

Unpaid vendor
390D 361 28

Director
DOTPOBICD
State commission
Sy 52000

SECTION - B 2x8=16)

Answer any two of the following

“A contract without consideration is void”. Justify?
(RBP508 e5yoiso Bk, DHB0H0G?
What is a sale contract? Write about the essential elements of a valid sale contract.

@959 8300 SPOEIE] WSTPAR? TR GR0Y) S5EEBed EPA0H00.

010) Explain the rules relating to contingent contracts.

SHOBOE STOEIPER G308 AOLITOR: JHBoT0Cc.



011)

012)

013)

014

015)

QI16)

017)

Q18)

Write about the duties of directors.
DOTP VR A0, DGoew VBTG

Write about the different ways for termination of agency contract.
B SO FoNoBmRS VG SrTes SO0

SECTION - C (3x14=42)
Answer any three of the following

Define a contract, write about different types of contract.
SORTE HITRIA, VG E5°0 SPoEIEe M0 DiS00BE0.

What are the different types of remedies available in case of breach of contract?
SPORIEY GQOVES DO0H0WD HBSEEH08Jg ?

What is a meeting, write about different types of meetings?
DRTRE0 oSMTRN, DAETTL BRTRT L0 KO0 A0

What is a bailment contract? What are the rights of the bailor and bailee?
BOWEROLS TOEIEY BBITRA? B0200S 50050 B0d SRR BEIDEN.

What are the different ways for winding up ofa company?
ROR0 BoTRRANES 50500 DG $TTeD VIO,

What are the redressel mechanism available under consumer protection act.
QUABFNEEEIL T HOOFE? AO@EOHN00 DO0E[0.

0460
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DBC32
B.Com. DEGREE EXAMINATION, JUNE/JULY - 2019
Third Year (Part - II)
Income Tax and Practical Auditing
Time : 3 Hours Maximum Marks : 70

SECTION - A (2x3=6)
Answer any two of the following questions

Internal control
OBGS OB

Statutory Audit
TRHTEE escked

Audit Evidence
e3CbeS g, 5O

Concept of “True and Fair”.
013(3"(2 oE° 5"5050 63%583&)

SECTION - B (2x14=28)
Answer any two of the following questions

Discuss the merits and demerits of continuous Audit.
SRS e5Cse5 G308 078 ST R0 5O Y0HO[0

Explain the legal provisions relating to appointment and removal of a company Auditor.
502 e363¢26 DOITH50, SONOHO $5020080DS TGOITEYE VIO DDOOTO[0.

What is Audit Programme? Explain the merits and demerits of Audit Programme.
et TOESN0  eITIN? ede] SEEHn Sy SR EdrmTesy B0

SNlelexe) oo

Write about the procedure for preparation of Audit report?



35365 DIOE SOTS0 DKo 95305803 DGOV DIBODB0.

SECTION - C 2x3=6)
Answer any two of the following questions

09) Person and Assessee.
568 SoBA e

Q10) Total Income
ooggo ooarcs

Q11) House Rent Allowances
305 &3 g0

Q12) provident fund Accounts
GPIXGIE P°T°0

SECTION - D 2x15=230)
Answer any two of the following questions

Q13) Explain the meaning of business, profession, charging of provision, computation of
income, admissible deductions?
g0 G300 ©go, 5B, BBy IPoD JALSTes, BHOD WBoSoBOD G FgaiTren

@505080TY BRoDY IFOoWOCE.

Q14) Explain the set - off and carried forward of losses?
(L0 &30 300050 53008505 ST ey 100D DSBoBOc.

Q15) How to determine the residential status of an assesse?
5200 oo, DTS BITgBe8 AF0200D G0 EFaK08e.

016) Compute the income from house property from the following details. Municipal value Rs.
90,000, Fair rental value Rs. 1,20,000. Rent received per month Rs. 12,000. The house
was vacant for one month. Outstanding municipal taxes Rs. 3,000. Give insurance
premium paid Rs. 1,000.

&e 3od 008 MyFtl S0k IND STATD) BBk, HTro @0, Sy Dedd &

90,000. U’?Sojo;_oé 3 &3 1,20,000 5y &3 308 &7 12,000. /570 1 v €.
Do B9YyIS BN 5. 3,000. DIV ety HIT LA EF. 1,000.

000



Total No. of Questions : 18]

B.Com. DEGREE EXAMINATION, JUNE/JULY - 2019
Third Year
Cost and Management Accounting

Time : 3 Hours

ol

02)

03)

04)

05)

006)

07)

08)

9)

SECTION - A

(4x3=12)

Answer any four of the following questions

DDT TR0 (HEOE BR[O FPAKOH0

Limitations of management accounting.

DS e920e30h DOV,

Prime cost
SapsPvertle

Abnormal Idle Time
G EEY SNPEOR0

ROCE
ROCE

Trend Analysis
LG DT (B5yB0 FIED)

Opportunity cost
935 E550300

Inventory turnover ratio.
3530020 €656 A58

FIFO
FIFO

SECTION -B
Answer any two of the following questions

DD Tot PHOE BRPGRHE000 EPAKOH0

Differentiate management accounting from both

Accounting?

DBC33

Max. Marks : 70

Q2 x8=16)

Financial Accounting & Cost

PTRANS T 0edoh Ho0akw =°f e oedoh B0G0e38 H50 RodeiB00e e 0e30hE Ko 2355009



Q10)

Q11)

012)

What do you mean by Ratio analysis? Explain the advantages & limitations of Ratio
analysis.
38 DFHEd XTI ? TR GBovs) (BATAT L 500K HOVED VHSBOND00.

Find out the following from the given details :
a) Re - order level

b) Minimum level

¢) Maximum level

Normal usage perday 500 units

Minimum usage perday 400 units

Maximum usage perday 550 units

Economic order Quantity 2000 units

Re - order period 15 to 20 days.

52 (208 D50 esprdore (3ol 37630 ESoR°SoG

a) 0 - e oo

b) 8 HOBTed Lo

€) NORVOVTE o

Eert Trdes IO 500 CITER

St 5D DI@TNO 400 CITER

8t NOR IIAWTNO 550 CITER

5708 56 30570 (EOQ) 2000 airéxy 6es5b 1o 15 $00é 20 &areo

In a factory guaranteed wages at the rate Rs. 1.50 per hour are paid in a 48 hour week. By
time and motion study it is estimated that to manufacture one unit of a particular product
20 minutes are taken the time allowed in increased by 25%. During one week Sai Ram
produced 180 units of the product calculate his wages under each of the following
methods.

a)  Time rate

b)  Price - rate with a guaranteed weekly wage.

c) Halsey premium bonus and

d)  Rowan premium bonus

e @ﬁ?gg@és m560e3 G DBT 0 48 MO Ko T°0°8 Hotatd 1.50 Hoso DYoBHBHo.

S0 SoBAN0 7EgR0B00 H0 ANINES $HIDD SOTPEDVATNEE 20 IAOeD HRETDHB)
@O DFETyrE HEB00 (308 BBFBOBINDS AV 25% oBDS &8 TGN &8 TEoE
180 OHIL0 ey BT 59 (300 3GV w8 IG5 8o

a)  TOR) e

b) 0D 2ed (955D B Teod)

c) ) RSC...

d) &5 Hse6o



SECTION-C (3x14=42)
Answer any three of the following questions
b@_@ S0 @%&@§> QRIPEPEE00e0 [EPA00

Q13) In a factory there are two service departments S, and S, and three production departments

014

P, P, and P.. In March 2017, the departmental expenses were
Departments S

P, 8,50,000
P, 6,00,000
P, 5,00,000
S, 1,50,000
S, 1,00,000
The service department expenses are allotted on a percentage basis as follows.
Departments  Production Dept. Service Dept.
Pl P2 P3 Sl SZ
S, 35% 40%  15% - 10%
S, 45% 30%  20% 5% -
Prepare a statement showing distribution of service department expenses to the three
production departments under simultaneous distribution method.

28 508" D) 00an P, @ Bokd VTV, 1y, 1p 0O0T0 15 i &S Jerrres
50D, 50°0y 2017 37¢38 &8 Jgrre PINeD.

NS0 53
P 8,50,000
P, 6,00,000
P, 5,00,000
S, 1,50,000
S, 1,00,000 v 8.
N gPIre PEN $od TEeort Seraxowd.
REVEIINS ¢85y Do DT
Pl PZ P3 Sl SZ
S, 35% 40% 15% - 10%
S 45% 30% 20% 5% -

2

Btk DI Jerire Piino Soded BB HESeT 2e0E” Srdoisod.

Show the stores ledger entries as they would appear when using
a)  Simple average and
b)  Weighted average method of pricing issues in connection with the following
transactions.
Units  Price
May 1 Balance in hand b/f 300  2.00
May 2 Purchased 200  2.20



May 4 Issued 150 -
May 10 Purchased 200  2.30

May 15 Issued 150 -
May 20 Issued 200 -
May 25 Purchased 200  2.40
May 28 Issued 150 -

BIND FS JgSTPo e
a) o DMew DEB B80T
b) &0 Dt B 500 Poy edgS” O Dgore S ITE” Srnosod.

OHTREY G
1 3OS Jog 300  2.00
2 TRORY) 200  2.20
4 260 150 -
10 TRORY 200  2.30
15 260 150 -
3 20 260 200
25 TRORY) 200  2.40
28 260 150 -
Q15) Calculate from the following details.
Gross profit S 5,00,000
Gross profit ratio 40%
Cost of goods sold S 7,50,000
Operating expenses S 5,20,000
Operating incomes S 2,00,000
Non operative expenses S 1,80,000
Non operative incomes S 70,000
Find
a)  Sales

b)  Net profit ratio

c)  Operating profit ratio

d)  Operating ratio

OIS D0 5006 (308 T°e3Q ESoM"E8050.

a)  @Xse

b)  I88 oy AZd

0)  AgTrer oyl ANY
d) AT A



QI16)

bs(;@ T°EIRD0 5,00,000

ST0 THPINY 40 B°BR0
RBISSORNIVON) SRRS U 7,50,000
QBTes PN 5,20,000
QBTEd LSO 2,00,000
DBETEBS S50 1,80,000
DSETESS et oires 70,000

Karthikeya Co. Ltd. is producing 1000 TV’s during the year ending 31.3.2015. The cost
details are as under.

Stock of finished goods 1.4.2014 Rs. 18,200
Stock of raw materials 1.4.2014 Rs. 8,320
Purchase of raw materials Rs. 1,89,800
Productive wages Rs. 1,29,220
Sale of finished goods Rs. 3,84,800
Stock of finished goods 31.3.2015 Rs. 19,500
Stock of raw materials 31.3.2015 Rs. 8,840
Works overheads Rs. 32,300
Office expenses Rs. 17,540

The company is about to end a tender for supply of 250 units.

The cost estimates are on follows.

a)  Materials Rs. 13,000

b)  Wages Rs. 7,800

c)  Factory overheads and office overheads are in the same percentage on direct wages
and  factory cost respectively.

d)  Prepare a statement of cost and ascertain the sale price per unit by a adding 20
percent of profit on selling price.

S03A0 5022 . 31 370y 2015 7738 1000 (3ODexd Ve SAITW TALIBAND. H50H

D370 B8 Forre e:5yd.

BOITC DK Jox (1.4.2014) djq: 18,200
$500C8 &0 Do (1.4.2014) 5T 8,320
500G BB TSR 8 1,89,800
GTNSE IBT0 &7 1,29,220
e‘éoﬁ@é NOPSSECAVISLON djq: 3,84,800
BOITC DK Jog 31.3.2015 djq: 19,500
500 ST Doy 31.3.2015 5T 8,840
550 oo 8T 32,300
eﬂiam PO djq: 17,540

5o 250 2 58 3065 BAITE BALEOVIB. J5ab wosTres $od DForr €%



a) odoand 8 13,000
b) JsTen 5T 7,800
0)  E0 Plned o0 D PENE ST ISR HBA FEO Hgares K
RHODBYBH00 €dy FEBH0E BEETD.
LI0TOD0 ESEHOT DT 58S’ 20 FEBH0 TPPD0CTEN BHIRED SO
DFORT &8 D505 DBOES0 SOTPEs BAHod.
Q17) The following balances were extracted from the books of Aruna Construction Private Ltd.

d)

pe’

on 31.3.2017

Materials issued at siteS 65,700

Materials purchased directly S 3,000
Wages paid S 72,500
Wages outstanding on 31.3.2016 S 2,000
Wages outstanding on 31.3.2017 S 1,000
Plant on 31.3.2016 S 16,000
Plant on 31.3.2017 S 12,800
Direct charges paid S 2,750
Establishment charges S 6,400
Stock of materials at site on 31.3.2017 S 7,200

Value of work certified on 28.2.2017 S 1,60,000

Work done between 1.3.2017 to 31.3.2017 S 8,000

Cash yet to be received S 16,000

The contract price was S 2,00,000. Prepare contract A/c

31.3.2017 T3 X063 E5RES 5020 T8 DT H00D B Dogen §35GSD.

2 23 309360506‘3 E>. 65,700
Soedoahdy ©SsE SRy Sr. 3,000
I8 DYoo E>r. 72,500
31.3.2016 Tred8 BQoTHOND ISrey S 2,000
31.3.2017 Tred8 QoI ISren S 1,000
31.3.2016 Tred PO Do 5>. 16,000
31.3.2017 Tred JPoead Do 5>, 12,800
(55 P20 IYoD & 2,750
b;o“aé PO &, 6,400
31.3.2017 o°¢3 309360506‘3 (RE5d) Doy & 7,200
28.2.2017 T°¢3 ¢Q§)§Gobm&é PO &>. 1,60,000
1.3.2017 &850 31.3.2017 55635 TS B 5> 8,000
FOBRT TS SHE oo 8r. 16,000

TORTE (58 5T, 2 0FR0. SO TR0 SAITEO B0k



018) Following are the balance sheet of Prasad Ltd. at the end of 31 March, 2015 and 2016.
Prepare comparative balance sheet and comment on the same.

Liabilities 2015 2016 Assets 2015 2016
S S S S

Capital :- Fixed Assets 1,75,000

2,10,000
Equity 1,50,000 1,95,000 Stock 85,000 90,000
preference 90,000 1,05,000 Debtors 40,000 65,000
Reserves 25,000 35,000 Bills receivables 20,000 50,000
Profit & loss a/c 17,500 20,000 Prepaid expenses 8,000 10,000
Bank O.D. 30,000 45,000 Cash at bank 25,000 45,000
Creditors 20,000 38,500 Cash in hand 4,500 11,000
Provision for Tax15,000 22,500
Proposed dividend 10,000 20,000

3,57,5004,81,000 3,57,500 4,81,000

800 &Ry ©Hyo D38 EFE OWEE 0 31 570y 2015 0OALL 2016 K BoAID. BOOTHE
€53 555700 0638 SATED B BITI0D BorESew Babod.

®IPeO 2015 2016 SO 2015 2016
SOTOEX0 : ?go%ﬁ@o 1,75,0002,10,000
éa%cse\% 1,50,0001,95,000:5808) 85,000 90,000
S5  90,0001,05,000200083((1900 40,000 65,000
O8> 25,00035,000:533°€0 5)@3@3 20,000 50,000
@?Jéigem P°@° 17,500 20,000 00080
IRIJCHRRY
2080 556 Lm%m,ooo 45,000 SO 8,000 10,000

22008200°80 20,000 38,500 25°§o§>65 SNEL 25,000 45,000
550 6% Ooye 15,00022,500 IHE” S 4,500 11,000
BOTEDS &I o& 10,00020,000

3,57,5004,81,000 3,57,500 4,81,000

440



Total No. of Questions : 18]

ol

02)

03)

04)

05)

006)

07)

08)

9)

Q10

011)

DBC34
B.Com. DEGREE EXAMINATION, JUNE/JULY - 2019
Third Year
Business Correspondence and Report Writing
Time : 3 Hours Maximum Marks : 70

SECTION - A (4x3=12)
Answer any four of the following
DT TR (HEOE BECTTR0 FPAD0G.

Functions of Communication.
g HRTEH0 o3w§b§)qﬁo®o
Effective communication
bsﬁogsﬁoéﬁ?jé EHRTEH0

Dangers of a report with errors.
B5po8 LGS 0% DT ERrEEEI0H0

Group communication.
DBOTE 277 (DPTR00

Non - verbal communication.
TS IS E50T5ERS

Barriers of communication.
APHEHS eser05°e0 (958 ).

Termination order.

S oRod ZleleV

Objectives of a good report.
5000 B

SECTION - B 2x8=16)
Answer any two of the following
DB Tots PV SIPFELD ARG

What are the basic Elements of Communication.
TIPS S009g SOOI DHB0TWO[0.

Write about organisational communication.
D508 ETHEIE50 @08 TS0 DIVoSHL.

“Listening skills are important in Effective communication” Discuss.
RDFH0BT0D gTHEIEE” DI FDesso BooPsoNg SByotod.



012)

013)

014

015)

Q16)

017)

Q18)

What do you mean by Oral Communication.
STDE SR EE00 9T BLOI0.

SECTION - C (3x14=42)
Answer any three of the following
DBT° BT PHOE DITETe EORoG

Explain about upward and downward communication.
&S00 HoBAB 965500 (D50 00) FPHEIPEB00R 00D DS00BOE.

How Internal Communication Differ from External Communication? Explain.
@OBEE GTHETEE0 O DFOTT eIy RTS8 BES IFBOBOG.

Describe various Channels of Communication.
VG T5°0 gPHERTS SI¢i5Hr 80 DDO0W0CE.

Write a letter to municipal commissioner about street Dogs problem in your street.
20 APED DPHY 550305355 B0 520AVBS EAFRHEL &8 BPiso Eraoson.

Write about the Communication networks.
N Shv o) 3@5;36% 1550y [EP0X0000.

Describe the principles of a business letter.
5 85500 C008), BP0 DDO0K0.

000
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DBC35
B.COM(Gen.) DEGREE EXAMINATION, JUNE/JULY - 2019
Third Year
Business Data Processing Systems (Part - II)
Time : 3 Hours Maximum Marks : 70

SECTION - A (4x3=12)
Answer any Four questions

Q1) Explain data manipulation.
BT DoVDBH3DE0 DFQEB0EB0.

02) What is file access in data base.
03) Steps to save and Quit Worksheet.
562, DBB00 €38y DO 000 PaE DO HeHoed

04) How to create worksheet?
5500y, D505 e (BBTeS DT
05) How can you sort the data in excel.
«excel & Ko @erd Jor sort BOHOSS.
06) What is print view?
(2085 g WBITRN?
07) How can you view multiple worksheets.
509DE 58 D000 IS WIS

08) Explain various applications of data base.
DG BES0BRS Tedr B0 PSIHHI0 0o,

SEECTION - B (2x8=16)
Answer any two questions

09) How will you change the appearence of text? Explain.
text G3oo%), STEHE000 AT SIENT 9 DFOEO0H®.

Q10) Explain formula copy procedure creating graphs in spreadsheet.
spreadsheet &° Dy EakeS Sahoey 500K FEner 9 Jaho SEBD EEBoSSL.

Q11) Explain different types of views in windows.
window & 5o DD SES500 view e 580506



012)

013)

014

015)

QI16)

017)

Q18)

Explain relative and absolute reference with examples.
Dea0yorrses SOOI BBedS DTV > GIITEEINE DFBOBIBR.

SECTION-C (3x14=42)
Answer any THREE questions

Explain different features of Excel.
Excel 6o, D65 5550085 5855 Qs80Bod.

How can you format your excel worksheet. Explain with font and paragraph format dialog
boxes.

excel 56, JHoo do format Jabres. font BodaRs DoTD TS Gerh box oF
Rleletnlolet

Explain using letter wizard for producing business letters.
856 o650 EBBPAON TGS GETB0B0 O DB BOITEH TG DFHEO0BB.

What are the chart features? Explain.
TG DS SSTRA? DFDEBOBRD,

What are the features of word processing. Explain.
56 @O G008y, 35 D9 DBEBoSHS0.

How can you create an Excel database?
Excel Ger 23080 Je° Srdroosiess?

*000
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DBC36
B.Com. DEGREE EXAMINATION, JUNE/JULY - 2019
Third Year

Corporate Accounting
Time : 3 Hours Max. Marks : 70

SECTION - A (4x3=12)
Answer any four of the following questions

Q1) Re - Insurance
SN

02) Amalgamation
QOB

03) Marine Insurance
5500103 DS

04) Methods of valuation of shares
TETO DTSOO8R o“acgééo@o

05) Contingent liabilities
eSHOBOE 220083 gy

06) Capitalisation of profits
LT SOTOSDESE

0Q7) Yield value of shares
2T o“acgé’% T°LT°O DB

08) Bonus in reduction of premium
DAAB0 SROD 1 &SR

SECTION-B (2x8=16)
Answer any two of the following questions
09) The revenue account of a life Insurance company shows the life fund for the year ended
31« March 2016 at Rs. 18,20,000 before taking into account the following items.
Rs.
a) Bonus utilised in reduction of premium 23,000
b) Outstanding premiums 45,000




¢) Claims intimated but not admitted 1,41,000

d) Interest accrued on securities 55,000

¢) Claims covered under reinsurance 62,000

f) Management expenses due 5,000

Pass necessary journal entries for the above omissions and calculate the fund after making
the above adjustments.

28 B8 DI Soud o YT 31.3.2016 5 DI 0 Bod eoTen HOKeSS S
B8 550005 18,20,000 1T g BTDIA.

a)
b)
c)
d)
e)
f)

&oe.
B0 BAowd ADoBo IIEFACDS &F'SS 23,000
THE0S H0T0 45,000
BOAHSD LRTHOLB To0NL 1,41,000
?0§5°§6€§® D TRV ;3% 55,000
o“g)éézbaﬁf D TR0 om0 62,000
DOOTIOS OXT°ess8T7dg PBLD 5,000

2 907705 DeTBEIOB0 R DEgeren TS SHTs £AS DI IO BYFE0E.

Q10) From the following particulars calculate the fair value of equity shares assuming that out
of the total assets 4,100 are fictitious.

Share capital : 5,500 10% preference shares Rs. 100 each fully paid; 5,500 equity

a)

b)
c)
d)
e)

shares of each Rs.10 fully paid

Liability to outsiders Rs. 75,000

Reserves & surplus Rs. 45,000

Average normal profit after taxation Rs. 85,050.

The normal profit earned on market value of fully paid equity shares of similar

companies is 12%

8o Do B0l Bedied Ter ool AEN (e Byeeg) Dewsiss SSofTvod. 280

500 & 4,100/ 500 5OV 588900 1 gPAoWOcs.

a) T DOTOGK0 ¢ 5,500 10% SQEGD Trerew e.5)5¢d 100/ 378 3YoDS8. 5,500 éa%cse\%

b)
c)
d)
e)

preference share moneys are payable as follows : Rs. 30 on

ereo 28753 10/.

2003 370 @Byed 8. 75,000

Bes8oge0 Qorden 8°. 45,000

B0 BTG TGrSed e &rgo G 85,050

33 85303 0 éa%cse\s) Tero SITES Do DS oTT IV T°eds B0 12%.
QI11) Sony company issued 6% 50,000 preference shares of Rs. 100 each for subscription. The

application, Rs. 30

on allotment, Rs. 30 on first call and Rs. 10 on second call Mr. Yellow who holds 1,000



preference shares fails to pay the amount due at the time of allotment. He however, pay
this amount with the first call money.

Give Journal entries in the books of the company.

6 % 50,000 SREGD Tered afed S, 100 TS I oD erb T, BOESD) T

Sorergdy (308 DGOrr Hrres Bod.

SO 2 G, 30 e 2 G 30 I00Eed HOoD 2 G 30 So0AD PO DD D G
10 . 1,000 Fereo SOAAHID) & o8 Serasnod) kg 30088, SR Twre Boated
2008 Berasod Do G BP0, WBHEI0D Ve, D00 @FOK000.

Q12) Review the Indian Accounting Standards.
eTOB0% 6030l (SHTeTes davdosod.

SECTION-C (3x14=42)
Answer any three of the following questions

Q13) Rajendra Ltd. was incorporated on 1.7.2015 to take over the business of Mohan
enterprises as a going concern with effect from 1.4.2015. Figures for the year ended 31*
March 2016 are as follows :

Debit Rs.  Credit Rs.
To Opening stock 60,000 By Sales (up to
To Purchase 87,500 1.7.2015 Rs. 50,000)1,50,000
To Administrative 9,000 By Closing stock 35,000
expenses

To Directors fees 1,500
To Selling Expenses18,000

To Audit fees 500
To Preliminary
expenses 1,500
To Net profit 7,000
1,85,000 1,85,000

Prepare a statement showing the profit earned prior to and after incorporation.
SRS Joed DED SBook), Ty 1.4.2015 0C EoR 0 AN 1.7.2015 & o°EoE

DEEDS SIS TDT0. 31.3.2016 T3 D00 (308 DFOT® 000,
aeS 5r. 8BS &
To (Frogid $80560,000 By eX05°e0

To S5ofen 87,500 (1.7.2015 5% 50,000/-)  1,50,000
To 380 209,000 By seofcd $505:35,000
Tozogs b 1,500

™

To ey %0 a)doy;o’l 8,000



To es8e5 Sew 500
To @08 piines1,500
Todsseso 1,000

1,85,000 1,85,000
SRTCED H200¢33, SITPE BB SIS0 IR DREE BATTERAT0G.

Q14) From the following information, find the value of shares by
a)  Net Asset method
b)  Yield method

Balance sheet

Liabilities Rs. Assets Rs.
1,60,000 shares of Goodwill 1,00,000
Rs. 10 each 16,00,000 Fixed Assets 15,00,000
Reserve fund 1,00,000 Current Assets  8,00,000
Profit and Loss A/c  1,00,000
7% debentures 2,00,000
Creditors 2,50,000

Provision for tax 1,50,000
24,00,000 24,00,000

On 31.12.2014 fixed assets were valued at Rs. 18,00,000 and goodwill at Rs 1,00,000. The
net profits for the last three years were Rs. 1,00,000, Rs. 1,20,000, Rs. 1,30,000.
It is general practice to transfer 10% to general reserve. The normal rate of return is
10%

Bz QI ABTH00E’

a) I8 &0 o“acg@

b) Text HES Terro s KN P0G

9 <« «
S @o.)t})@ oJ€§

2SO OO0, e80e0 &oe.

1,60,000 °6°® a§°b§be3 HEIS 1,00,000

&0, 10 5"0“30335 16,00,000 2T°R00 15,00,000
@ —o

Be380g OO 1,00,000 (3:00% es:0e0 8,00,000



TYIL© S 1,00,000
7% GEBONEY 2,00,000
2200€30°eD 2,50,000
550y §'E%H Aoew  1,50,000
24,00,000 24,00,000

31.12.2014 9 i@)@@@m 18,00,000 ©5 550050 MEIS &S0 3. 1,00,000 055 e SeJorso.
B0c3ed Jo7edd HoRBTHe IEC orgidooey &, 1,00,000, &, 1,20,000, 7. 1,30,000.
TS DO 10% 50 28O BOFEIED. FPSed O°ats Tedd 10%.

Q15) What is Amalgamation? And write different types of Amalgamation?
HOCBTHE ST ? 550050 DA HOBTHLE ST EraoE?

Q16) The following are the balance sheets of Swarna Ltd. and Surya Ltd. as on 31 - 12 - 2017.
Balance Sheet

Liabilities Swarna Ltd. Surya Ltd. Assets  Swarna Ltd. Surya Ltd.
Rs. Rs. Rs. Rs.

Share capital : Fixed
Shares of Rs. 102,00,000 50,000 Assets  1,95,000 70,000
General Reserve 50,000 20,000 Investments :
P & L A/c Balance shares in Surya
(1.1.2017) 30,000 7,500 Ltd. 60,000 -
Profit for the year 201450,000 20,000 Debtors 35,000 25,000
Creditors 20,000 10,000 Other current

Assets 60,000 12,500

3,50,0001,07,500 3,50,000 1,07,500
Note :

a) Swarna Ltd. Purchased on 1.7.2017; 4,000 shares in Surya Ltd. at Rs. 15 each.

b) Stock in Surya Ltd. include Rs. 7,500 worth of goods purchased from Swarna Ltd.
which company sells goods at 25% above cost.

c) Creditors of Surya Ltd. include Rs. 5,000 due to Swarna Ltd.

Prepare a consolidated balance sheet as on 31.12.2017.

31.12.2017 773 28 OBE 50001 3707 DWEE 70 €5y ey Dedoo God JEonT oo

9 « «
S @Q)f})@ oJ€§

Wdpe KT QWEEITro DEE esdoo g dEE By &
°LT° DTG0 %36 edey  1,95,000 70,000

¢ 1 8 8. 102,00,000 50,000 ~ VLRI



e Bty 50,000 20,000 7 QT OWBES”

TPYIL© PrS® g e 60,000 -
(1.1.2017) 30,000 7,500 2OOBNOL0 35,000 25,000
2017 H05E0°08 JBS (R30S
Lo 50,000 20,000 2000 60,000 12,500
2200£30°eD 20,000 10,000
3,50,000 1,07,500 3,50,000 1,07,500
He30E
a)  1.7.2017 & T IWEE T 5oy AEE T°6 4,000 TeTeidd T 18 8. 15 THpd
TR e0de .

b) o IWEE THE 6. 7,500 e B H VWEE Hood Fioi'es TS &
€935, 85500 Qo5 25% 00 HOTROLWBRND.

¢) B OWEE wes TEed’ &I, 5,000 B30y DWEE B0k TR B

2 DIBB00 eSErEHNT 31.12.2017 7ed DS ey e 930 SArsd Dabod.

Q17) What are the legal provisions relating to preparation of final accounts of banks?
25O BooRoRD) BHEO BAT: BABIID HoRORHON FD Ve0EBLO A9

Q18) What is meant by Bonus shares? When the bonus shares were issued?
700 TeTe) BHITRN? T3 Ay w0 B9

440
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DBC37
B.Com. (Gen.) DEGREE EXAMINATION, JUNE/JULY - 2019
Third Year
ADVANCED MANAGEMENT ACCOUNTING (Part - IT)

Time : 3 hours Max. Marks : 70

SECTION - A @4x3=12)
Answer any four of the following
Uses of Management Accounting.
ASsen e9F°0doh eBaTTRD.

AS-3
AS-3

Capital budgeting.
BoToess egedoh.

Absorption Costing.
50D T0H.

Management Information System (MIS).
3655?8’9 PSNVEN o) Sﬁgéﬁé@.

Overhead variance.
£.562°& S5,

Types of budgets.
0G0 S50,

Cash flows from Investing activities.
2ENE STGESPT Y T SIS (e300

SECTION-B (2x8=16)
Answer any two of the following questions
Write about functions of management accountant.
F03ET00e5 9T 03065 G308, 5208508 DGO DHBODH0.




010) From the following information calculate material variances.

Standard Actuals
ProductQuantity (kg)Rate ProductQuantity (keg) Rate
per unit per unit
A 1100 24 A 1080 25
B 1050 30 B 1060 32
C 1120 40 C 1130 36
55 308 DEFTE0 5506 2063000 DBGEIB Bood.
ERPRIPE3E[00 PRV
D00 KO 2030720 &6
B0y Oe5s BeBody  aHrdesd
A 1100 24 A 1080 25
B 1050 30 B 1060 32
C 1120 40 C 1130 36

Q11) The expenses budgeted for production of 10,000 units in a factory are given below.

Per unit Rs.
Materials 70
Labour 25
Variable factory overheads 20
Fixed Factory overheads (Rs. 1,00,000) 10
Variable expenses (Direct) 5
Selling expenses (10% fixed) 13
Distribution Expenses (20% fixed) 7
Administrative expenses (Fixed Rs. 50,000) 5
Total cost of sales per unit 155

You are required to prepare budget for the production of 25,000 units.
o5 @ﬁ?ggéés 10,000 05TV WOTT® &hB3 $010Q0NS PN E0d DGFON €700,

Oe58
&oe.
20630056 (S00EBE5) 70
REVEISY 25
356 550 856378, 20
e F550 25627,y (8. 1,00,000) 10
38 PBe0 (D553) 5
@5 5700 PENO (10% i@)d) 13

B09ed PELD (20% i@)d) 7



012)

013)

014

015)

QI16)

QTrgsTred PEYLO (?gd - 8> 50,000) 5
0080 A S8 H5aK0 2.8 aKHIeSS 155
2 DHPTBO SFEOTT DD 25,000 AIENS 23Fe5B0 BATE BAboBw.

Explain the Importance of funds flow statement.
D00 (B0 (Fre) IIOE GBook) (PP009ge D500,

SECTION-C (3x14=42)
Answer any three of the following
Draw a proforma of cash flow statement with imaginary figures as per accounting
standard -3.
e5Z°0e30R (PHIEIESD — 3 (PSE0 SN (Hars AFOEI eoSTe Jeuses Sruosod.

What is budgetory control? Explain briefly its ~ advantages and limitations.
03620 DoTowes BSTRN? BATeTes 5000 St Ko J00S0d.

Define working capital? What is Importance of working capital estimation in business.
QETED BoToEHoi AB0B0E? T5rEos” ATIE HoTeEo SOl PSP d0ed?

Initial Investment on a project Rs. 6,00,000, salvage value at the end of the fifth year is
Rs. 40,000  Expected profits after tax are as under Tax Rate 35%

p.v. @ 10%  vearprofit before tax and after depreciation

0.90 1 1,50,000

0.82 2 1,80,000

0.75 3 2,20,000

0.68 4 2,80,000

0.62 5 90,000
Depreciation is under straight line method. Calculate
a) NPV

b) Profitability Index, P.V factor @10%
e ras 5 6,00,000 o 2ened @msoBoss. ¢ RoES o KosETe SEms S5

deo0s &> 40,000, w5080 35% woran mmy Haom StbEe ST wosw

3050805 Teatio00 QIS FOYTE0. 63 550G

a)  BO (D08 D20

b) CYTALES S S e @ 10% BHEDB0. SBIHEL B TONTO HGB HF0
B0 0.

(55505 Des @ 10% SOSBTBIBB0E 5000850 SEAHE SEES

e8TIPOIV0
0.901 1,50,000
0.822 1,80,000

0.753 2,20,000



0.684 2,80,000
0.625 90,000

Q17) Mr. Aravind furnished the following information.

Net loss S 80,000
Fixed cost S 4,00,000
Profit volume ratio 40%

Compute

a) Variable cost

b) Contribution

c) Break even point

d) Margin of safety

@808 BID FINE VD500 850 BHOHOE.

D6 g 5. 80,000
26 P850 5. 4,00,000
ey 5057 I 40%

a) SEB50NTR0

b) §OL€3835°?S?/.J\5
c)  A0Lvy 5383136 90 5°00
d) 058 @58

Q18) Mr. Karthikeya Company Ltd, furnished the

following balance sheets for the year

ending December 31+ 2015 and 2016. Prepare funds flow  statement.

Liabilities 2015 2016 Assets 2015 2016
Share capital ~ 20,00025,000 Land & Buildings 20,00019,000
General Reserve 5,000 6,000 Plant 15,00017,400
P/L Alc 3,050 3,060 Stock 10,000 7,400
Loan from bank 7,000 - Debtors 8,000 6,420

(short term)

Sundry Creditors15,00013,520 Cash in hand 50 60
Provision for taxes3,000 3,500 Cash at bank - 800
53,05051,080 53,05051,080

Additional Information :-
a) Depreciation on plant in 2016 Rs. 1,400
b) Dividends paid in 2016 Rs. 2,000

c) Provision for taxes during this year Rs. 2,500



6800 502D dWGE 76 Gowd 31,2015 w8055 2016 w3 ssrmoes’ e Fomsse
(£5509) IIOES> BATTS> TG

SIVANSY 2015 2016 €390 2015 2016

TPLTROTOE0 20,000 25,000 25700, £5:57°2020,00019,000
erSes Bestog 5,000 6,000 P00 15,000 17,400

P DL PPT° 3,050 3,060 H308 Jdex 10,000 7,400
) ) cS ) )

VIR 300G 200830 7000 - 220083710 8,000 6,420
(D5enz0%)
DD 20083T°BLO 15,000 13,520 DS’ Siics> 50 60
D3 §°C% L)Gbeao 3,000 3,500 25°§o§>e35 SN - 800
53,050 51,080 53,050 51,080
983950 D80

a) ot 2 2016 & SBIHESE 5. 1400
W 2016 & &I o &, 2,000
D) (BR8 D05B0S B0y DO EF° 2,500

640



